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Choose the best answer.            
    i)  a. Normal                      
   ii)b .population parameter        

  iii) a. rejecting a true null hypothesis

  iv) a:
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                                                      v) b: z = -1.76
vi)d. Two population variance.
vii) a. Accept the null hypothesis
viii) 5%
 ix)  Null  
 x) t test 

                                                      PART B
Question no 1: 
Part A: 
          1: [image: image3.png]Hy:p =100
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         2: [image: image6.png]Hy,:m < 0.65
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        3: [image: image9.png]Hyp=4.5
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Part b:
                1:soit liesin rejection region
               2: so 3.0 lies in acceptance region
               3:so 0.8 lies in  acceptance region
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QUESTION NO 2:
PART A:
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For 98 % confidence level 
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         For 98% :  [image: image28.png]0.7901 < 9% < 3.9486




PART B: 
       [image: image29.png]x? %/, = 26.757




2:  write f value
      [image: image30.png]nl
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· when v1:24 and v2:4
f table vale:20.03

· when v1:4 and v2:14

f table value :4.89
3: write z table value
     [image: image33.png]—2.22 wvalue in table 0.0132
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QUESTION NO 3:
   PART A:
  GIVEN DATA:
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n = 50

x = 7.955 

∝        = 1% = 0.01

                  P = X / n [image: image39.png]



1)  H0 : μ = 8

 H1 : μ≠8

2)  ∝ = 0.01

3)  Z – Test 

Z= [image: image41.png]N





4) 
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Z = [image: image45.png]7.955-8 —0.045 —0.045
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Now P – value; 

P (Z >2.14) = 0.9838



1 – 0.9838 = 0.0162

P (Z <- 2.14) = 0.0162

P = 0.0162 + 0.0162

= 0.0324
· P is less than α and we reject H0 and accept HA.

PART B: 
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   Ans 
PART b:            n1=16           n2=13             S1=6.88               S2=6.04

                          C.I=95%   

                          v1= n1-1 =16-1

                           V2=n2-1=13-1

              V1=15
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Question  no 4:
Ans:
        One tail and two tail test with an example:

One tail test:  

                      A one tailed test is associated to an alternative hypothesis for which the sigh of the potential difference is known before running the experiment and the test.
Example:
              if we compare the averages of two samples X and Z., we expect that if a difference between the two averages is highlighted, we do not really know whether A would be higher than B or the opposite. This drives us to choose a two-tailed test, associated to the following alternative hypothesis:  average(A) < average(B) or average(A) > average(B), deping on the expected direction of the difference
TWO TAIL TEST:
                             A test of a statistical hypothesis , where the region of rejection is on both sides of the sampling distribution , is called a two-tailed test.

 Example:
                  suppose the null hypothesis states that the mean is equal to 10. The alternative hypothesis would be that the mean is less than 10 or greater than 10. The region of rejection would consist of a range of numbers located on both sides of sampling distribution; that is, the region of rejection would consist partly of numbers that were less than 10 and partly of numbers that were greater than 10.

Part2:
           Z test and t test:

 Z test: 
            A z-test is a statistical test used to determine whether two population means are different when the variances are known and the sample size is large. The test statistic is assumed to have a normal distribution, and nuisance parameters such as standard deviation should be known in order for an accurate z-test to be performed.

Example:
               A principle at  school claims that the students in his school are above average intelligence.
  T test:
             A t-test is a statistical test that is used to compare the means of two groups. It is often used in hypothesis testing to determine whether a process or treatment actually has an effect on the population of interest, or whether two groups are different from one another.           
Example: 
                   t-tests are most helpful with a smaller sample size (n < 30). 
Part 3:
            Null and alternative hypothesis:
                   Null hypothesis:
                                              A null hypothesis is a type of hypothesis used in statistics that proposes that there is no difference between certain characteristics of a population  or data-generating process
Example:
                 Little Susie speculates, or hypothesizes, that the flowers she waters with club soda will grow faster than flowers she waters with plain water. She waters each plant daily for a month . There is no statistically significant relationship between the type of water I feed the flowers and growth of the flowers.
Alternative hypothesis:
                                        The alternative hypothesis is a statement used in statistical inference experiment. It is contradictory to the null hypothesis. We can also say that it is simply an alternative to the null. In hypothesis testing, an alternative theory is a statement which a researcher is testing. In this hypothesis, the difference between two or more variables is predicted by the researchers, such that the pattern of data observed in the test is not due to chance.

Example
To check the water quality of a river for one year, the researchers are doing the observation. As per the null hypothesis, there is no change in water quality in the first half of the year as compared to the second half. But in the alternative hypothesis, the quality of water is poor in the second half when observed.
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